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Question Number : 1 Question Id : 550053161 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If f(a)=log %;—: for az {—1. 1} . then the set of values of all ‘a’. for which
[ 29
f [ —— 15018
\1+a%)
az{-11!8 f(a)= Iogl O3, t‘ >0 956335 9 ‘4’ DDV VDD
e 11ia 1+ 52

Options :

(0.5)~{1



Question Number : 2 Question Id : 550053162 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

_ax+ya -x’

If a real valued function £ is defined by f(x) = then f'is
X

2
£ e 28 SrRuduref Rooho, (x) :w ™ QWSS 0o |
X

Options :

ﬂlll}’ O1ne — one

9 DS A

only onto

5 v POFREAN HIrG

both one — one and onto

(S0 S0BoKD VoFRHW



neither one — one nor onto

(S0 SPEL VoERdHD SR
4, %

Question Number : 3 Question Id : 550053163 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

—
[}
g

If the cofactors of the elements 3. 7 and 6 of the matrix | 4 -1 are a.bandec

|1 |3
respectively, then [a b c} 4l+fabc][7]=
12 6

4 -1 7| &rgs o?mézj P57 3, 7 0803w 6 axo8),
12 46
DTS00 SEHRM a, b S8ty ¢ eand, RN

|
labc]4l+fabe]7]=
6

2

Ll

Options :
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Question Number : 4 Question Id : 550053164 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(2 6 o) o] W I
LetB={1 0 I jand C=|1 1 3| Ifamatrix A 1ssuchthatBAC=1I,
=1 1 = e A 2
then A™=
(2 6 4) (-1 0 1)
B=|1 0 1| &dow C:‘ I 1 3 edvdomro. A ed s ards
=l =), {\2 0 2}:

BAC =1 exciioftobyy 1 &0fS, ey A”' =

Options:
(3 =5 §)
g 9 141'
e 2 2 6)
(-3 -5 15)
0 0 &
|
(2 14 16)
2. %
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Question Number : 5 Question Id : 550053165 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If det(AB)
det(adj A)

(det A)(det B) and A is a non-singular matrix of order 3x3. then

det(AB)=(det A)(det B) 0800 A a8 3x386683 BB w8 Fodn ards
wowd, W\ det(adj A)=

Options :

det(A)



v 3

(det(A))

Question Number : 6 Question Id : 550053166 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
S={zeC/|z—1+i|=1} represents
S={zeC/|z-1+i|=1} 2rdoBd
Options :

a circle with centre (—1. 1) and radius 1 unit

Sogo (—1. 1) 206030 SegFrdo 1 atardeS T o Sy

1. %

a circle with centre (1.2) and radius 5 units

Sogo (1.2) So8ain Fm§Prdo 5 CBrRLTT o H5)S:Ea
2. % '

a circle with centre (1. —1) and radius 1 unit

Sogso (1. —1) 0800 &7§3"do 1 A m o SBySEw
3. % :

an ellipse with centre (1.—1)

Sogo (1,—1)m deo &S dydo
4. % =T

Question Number : 7 Question Id : 550053167 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

”
z ——|=2.then the greatest value of |z]is

Z

It

2
Z__

=2 oS, DN |7 B, (87 Dewd
- s P03

Options :

V3-1

Question Number : 8 Question Id : 550053168 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

One of the 15" roots of —1 is
—1 cBwg), 155 orered” wsd
Options :

1% c1s 0



137

Question Number : 9 Question Id : 550053169 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 . g : 34
The product of the four values of [l—w@ ] 18

[jl—.i\/;fq G0, 4 Dende e

Options :



Question Number : 10 Question Id : 550053170 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If one root of the equation ax’ +bx +¢ =0 is twice another root, then

ax’ + DX +¢ =0 DaDSGEA aI0g), 28 OB, B SrerdS 38osy wawd,

E‘.‘J:}:}Jm
Options:

. x 36b° =343ac’

Question Number : 11 Question Id : 550053171 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

o and B are the roots of the equationx’ —ax+b=0. If a* +p’and o +p’ are the

roots of the equation Ax* +Bx+C =0. then C=

0 BB P dedgbmo X’ -ax+b=0dwe fureren. o +B7 by
o +f'en HOddnan Ax’+Bx+(= 0 g, Soreren eand, @iy €=

Options :

y a’ —35a’b + 6ab’



a’ +5a’b —6ab’

- a’ —5a°b —6ab’

5 3 - 2
4 % a’ +5a’b+6ab

Question Number : 12 Question Id : 550053172 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If —11s a twice repeated root of the equation ax’ +bx” +¢x+1=0, then

ax” + DX’ +0x +1=0 DDA —1 Tocd I DD 2arwRd, iy
Options :

- b=2a4+1 c=a-+1

;o b=2a+1l c=a+2

b=2a-1 c¢c=a+2

Question Number : 13 Question Id : 550053173 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



x? _2%43

The minimum value of f(x)=— 18
X" —4x+7
X =2%x+43
f(xX)=— adng). S Ve
(%) X —4x+7 b=V
Options :
1
Bb—re
ARV}
1. %
3-43
2. ¥ 3
-
2
3. %
1
ey
4. % 7

Question Number : 14 Question Id : 550053174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If C, :”Cj.then G HC €y HGE g+ A8 B =

€

i G s |

C;="C; ®and, ey CoC+CCy+CC oy +.4C
Options :

(2n)!

(n—21)!(n+2r)!




2.
2n
. CI‘
3_ W
20~
% C r+1
4,

Question Number : 15 Question Id : 550053175 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The coefficient of the highest power of X in the expansion of

'.X+\/E)E+ix—m)sis

¢ 3 8
(x+ xz—l) +[X—'\,(XI—1) ag), D@dm@ﬁbxcﬁwégj OBAS rdiy forso

Options :

. 64

128



Question Number : 16 Question Id : 550053176 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The number of non-negative integral solutions of X, +X, +X;+X, =10 1s
X, X, +X;+X, =10 c3wg), dios Jrros e vowy
Options :
120

L« 144

2
L
o

Question Number : 17 Question Id : 550053177 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of six digit natural numbers that can be formed with the digits
2,3,40,56,78 1

e03e0 2. 3. 4. 0.5. 6. 7. S0d o?udbda’a o) esdhea03e) DR R0V ‘500335

Options:



Question Number : 18 Question Id : 550053178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

(/

|(a
IfA=4

s 4 l-a.b,c.de{-L1} 1 then the number of singular matrices in A 1s
¢ d)
L_k‘ f

-

a b) |
A= H i a.b.c.de{-11}; wand, ey A S wdertn drdse oy
¢ d

P

Options :

1. 9

2. % 12

Question Number : 19 Question Id : 550053179 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

4

If cotxcoty=a and x+y=—,then the quadratic equation satisfying cotx and

Pl ==

Coty I

=
cotx coty = a«0doin x+y:% 903, @)Y cotx uBakn coty LA Sy

8% 96 L6
Options:

£ +(1-a)y/3t+a=0

1. %

y V3t +(1-a)t+av3=0

2.8

30 +[a—1)t+a\/§:0
i

3.

2 +(a—1)4/3t+a=0
4. %

Question Number : 20 Question Id : 550053180 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If tan A+ tan B=x and cot A +cotB =y, then tan(A+B)=

tanA+tanB =x So0aiw cotA+cotB=y eond, @@Dm tan(A+B)=
Options :

Xy

.2 X7Y



Xy

3. % g

Question Number : 21 Question Id : 550053181 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1 1
cos 290° \Esin 250°

Options :
3
1. % 4
4
2. M2
2

r_“.



fid
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Question Number : 22 Question Id : 550053182 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
{ = \I’ 3’ - '\II = . { in \ \ T - |'r, \
1t bl —+a || +|1-sin| —=a —cc-s‘—+u =a+Dbsin’ l—+a
)= 3 I ) | |
|\--r \ & - x - ; \'I' /
2 2
then a +b” =
\ \EOT
() (3¢ ) ([ 3n (3 ) [ ‘.
1-cos| —+0 ‘+s111 —+0 || + 1—5'111}——aJ—c05 —4+0 -a+bsin’| —
| 4 | L 2 ! | \ 2 L. 2 ] '_1
\ i / i | 1 - / L A

wowd, WYy a’+b’ =

Options :

% 20

3 % 40

fad
-3

Question Number : 23 Question Id : 550053183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



|
. Y . = 2
SIN'X +3SIMXCOSX+5¢05" X

The range of is

1
— : = 03305& ::1"0533
S X +3smXxXcosx+5¢c0s'x

Options :

Question Number : 24 Question Id : 550053184 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
%
If coshx = 2 .then tanh3x =
5
coshx = - 2900083, DN tanh3x =
Options :

1.9



-2
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-2

I
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Question Number : 25 Question Id : 550053185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC. if sin’B =sinC and3cos’B =2 cos’C, then AABC is

w ) . 2 2 X
AABC & sin'B=smC s8ain 3cos B=2 cosC wand, Wiy AABC
Options :
a right angled triangle

208 w08 St HFvRAW

1. %

an isosceles triangle

5 % s am&gwm 323020200



an equilateral triangle

208 LTI 3233023300

a scalene triangle

v 208 DN &PV G

Question Number : 26 Question Id : 550053186 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If AABC s aright angled isosceles triangle and /C =90°, then r:1, =

AABC a8 wotsS 20B(Eraro Galoain 8oy /C = 90° wand, s\ 1:1;=

Options:

Y2 £13/2 1
\E—l:\EJrl
. \}E:l

4 % 1:42

Question Number : 27 Question Id : 550053187 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



C A
In AABC.if HCGSE;-FCCGSEE:

545 2 A
AABCe’, acos” ?-FCCDS_ -

s

then a+c:b=

Ll
|

‘-b 6 c\aljm +- b—
2 .

Options :

1% L1

Question Number : 28 Question Id : 550053188 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
3 2
X+2 . , . e ) G ,
If \, - is one of the partial fractions of : . , then the other partial
x -3 X'+x'-12
fraction of it i
X+2 3% 2% +17
‘{f 038 — ’ o8, T @aﬂlvﬁ 2888, A L6'$ FLS
X =3 X +x-12
AN
Options :
2X +3
ow X0 4



4D
AM ;
oe: | ik
e | D

2x—3
3 ¢ ;e Y
3x—2
4% X —4

Question Number : 29 Question Id : 550053189 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 7i- 43+ sk is the position vector of the vertex A of a tetrahedron ABCD and

i+ 4] -3k is the position vector of the centroid of the triangle BCD, then the
position vector of the centroid of the tetrahedron ABCD is

ABCD e csehod, ) 9o A i), 4 %64 Ti-4j+ 5k 2oBasw Gz BCD
638, Sograo GRg) 34 26¥ —i+4j-3k wand, By Sy ABCD
GB0g), Sogh 270 oY) ' D

Options :

5 43—3£

1. %

—17+4j—3£
2



i+2j-k

3.

L. -io2iek

Question Number : 30 Question Id : 550053190 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let OA=i+ 2] ~2kand OB=-2i- 1J +6kbe the position vectors of two points A
and B. If C is a point on the bisector ZAOB andOC =+/42, then 0C =

0A=1+2j-2k 28050 OB =-2i-3j+6ked A 28040 B 9 Gt Docadyo
gﬂeﬁ BgvRsomre. ZAOB diwg) dduimodsd G2 C w8 Doty Sobokw
0C = 42 wond, CEON 0C =
Options :

1 % 41—]+ sk

§+5]—.4E

Question Number : 31 Question Id : 550053191 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
L YRT _ axb
If a and b are two vectors such that |a :‘b‘ :\/ﬁ and a.b=-7. then ‘_ E‘ =
a.
a &B0inb e 5:‘5‘:\@ H08akw a.b=-7 eﬂoiaﬁéagbrw &) Gocd
axb
ROV, W\ ===
z a.b‘

Options :

J3
-

4. %

Question Number : 32 Question Id : 550053192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let (55) denote the angle between vectors aandb. Ifa=2i+ 3]+ 6k. ab=4

_ ."4 o
and (alb] =cos™ ‘ 5 J then a+b=

(2.b) 038, a 8o b w690 s Sy ArdwoBIDE,

- .- — [ 4 R
a=2i+3j+6k. ab=4 Sndain {a,b):cos'l‘j—l; 90, WP\ a+b=
Options :

35+3+8£
3i+5j+4k
3i+5j+8k

;—j+8E

Question Number : 33 Question Id : 550053193 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



=
. If the

The distance of a pomt a from the plane r.m=q is given by —=
111‘

distance of the point i+23—:3£ from the plane f.(ZL(S]—SJE):—l is p and the

distance of the origin from this plane is q. then p-q =

_ _ am-(
I =( @ $00 ok a8 28 DotHHD v Krdo ‘ ‘_‘ ‘ ™ Q(@cod.
m

1.(21+6]-9k) = -1 w0 00l i+2j+3k Dot o Grdo p dudakn &
000G rodotD e Grdo | wond, O\ p-q=

Options :

6

1. %

Question Number : 34 Question Id : 550053194 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The mean of 5 observations 1s 4.4 and their variance is 8.24. If three of those
observations are 1.2 and 6. then the other two observations are

§ 209080 30685300 4.4 20805 8 D8 8.24. TG Swrcy vBYwBeY 12, 6
90, &3 A Toc HEIWDHeR

Options :



2

Question Number : 35 Question Id : 550053195 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Three screws are drawn at random from a lot of 50 screws containing 5 defective
ones. Then the probability of the event that all 3 screws drawn are non-defective,
assuming that the drawing is (a) with replacement (b) without replacement
respectively is

w8 T3 §° 50 Aol § BET Nk 6 o, 6 T3 &l 3 A

Mg

afcsyeySorP (a) B Ay 88 20 S dorr

(b) B AR 88A 258 SaH Ao LD G, XYY & AP AP

o

BETondd S8 Doerd(d, G

Options:

( 9 T 1419
_— 10,/ 1960

{ 9 “~.2 ;

t ‘ 1418
, % \10) 1961



w3
.

|f‘ 9 1419
L 10 )~ 1960
3. k3
(9 ‘3 1418
.10 ) " 1961
4. ®

Question Number : 36 Question Id : 550053196 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A coin is tossed three times. Let A be the event of “getting three heads™ and B be the
event of “getting a head on the first toss™. Then A and B are

28 TE) Qe PO HHS I, dareir "G w0 D5y DR A e,
ABBFB IDESHADE e5'20) Siy 200 B 0 eoBod. ey A
208030 B w

Options :

Dependent events

e.a"’n:}‘se‘_'mg PSBIATNTDS

Independent events

V(S0 DOLIRDW

Impossible events

3 % £9R0IaD DV



Certain events

L x DS Do

Question Number : 37 Question Id : 550053197 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

From a collection of eight cards numbered 1 to 8, if two cards are drawn at random,
one after the other with replacement, then the probability that the product of numbers
that appear on the cards is a perfect square is

| d00¢: § RospfRe Arodacd ARG TG0 S6EH Woc AR SorP Totkd
808 28 T ST LTS, S AV G8A B8 51 SorT Y. Y\
8 S00P $H0E V0P[R VWO w8 DBRFY 60 T7HE"S (L oerd(d
Options :

3
. 14




Question Number : 38 Question Id : 550053198 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If A and B are events of a random experiment with P(A) = 0.5, P(B)=04 and
P(ANB)=0.3. then the probability that neither A nor B occurs is

P(4) = 0.5. P(B)=0.4 080%0 P(ANB)=0.3 ecbibrty A 6ok B a8 atreyidys
DO Cho), DRV OB, B\ A H0Bakw B e Gocr 26ris

YRS the R0ER(S
Options:

0.04

, v 04

% 08

Question Number : 39 Question Id : 550053199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The minimum number of times a fair coin needs to be tossed, so that the probability
of getting at least two heads is at least 0.96 is

&9%0 oo o) 0 Jod oS 4990 0.96 233, s D&QQS TE)
DS DodPd & Si);ﬂ:} i’.JU°50:‘omJ?.J }’ooa,oig

Options:



h

Question Number : 40 Question Id : 550053200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
f Y&
If B(X=x]= k‘ - ‘ , x=12.3,..1is the probability distribution function of a
\ 8§
discrete random variable X, then k =

X

/q'\l

3

P(X=x)=k g\ L x=123.. @38 48 D\®) ofrd,Dd dood X ding)

b4

o SE Jerad DDAUrD) AR, W@ k=

Options :

¥
&0 |

| co

W
A
W | Lh



0 | 4=

Question Number : 41 Question Id : 550053201 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If A(4,0)and B(-4.0)are two pomts, then the locus of a pomt P such that
PA-PB=4 i

A(4,0), B(-4.0)Boc> Docdoapyen wand, PA-PB=4 ol ere G0l Dockd)
P qig), Docdoian

Options:

2 2
A —=y=12

Question Number : 42 Question Id : 550053202 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



LetP=(-10), Q=(0.0) and R =(3. 3\@ be three points. Then the equation of the
bisector of the ZPQR is

P=(-10). Q=(0.0) s08s0 R =(3.33) &0 duret> Dockodpen wu8od, e e

ZPQR qivg), Hid0bmociad G 2860

Options :

\/SET'}f:{]

1.9
3
X v=0
Y
2. % =
—/3
X+y=0
3. %

X+\E}r:0

Question Number : 43 Question Id : 550053203 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The diagonals AC and BD of a thombus ABCD intersect at the point (3, 4). If
BD=2y2. A=(L2).B=(0.p). D=(1.5)and cr<d<y<p, then p+y-0=

ABCD &3 trowd aing), Soen AC 8ot BD en (3, 4) &6 wociotd
Sotwreyaw. BD=242, A=(12), B=(0.p), D=(7.5) 80 a<d<y<p

o3, Y\ P+7-0=



Options :

Question Number : 44 Question Id : 550053204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The lines p(p° +1)x-y+q=0and (p" +1)’x +(p” +1)y+2q=0 are perpendicular
to aline L for

p(p+Dx-y+q=0:08aw (p™+1) x+(p+1)y+2q=0Sawen a8 8L 3
QOBIOTT G0GAE
Options :

exactly one value of p

P S 28 s Jeusd &otod
1.¢

exactly two values of p

P S Ooc Densden &otrow
2. %



more than two values of p

P S ot S0 D) D DewdeD &0k o

no value of p

4% DS Dend eoctcd

Question Number : 45 Question Id : 550053205 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 2x*-3xy+y'=0 represents two sides of a triangle and Xx+y-1=01s its third
side. then the distance between the orthocenter and the circumcentre of that triangle
i

2X°-3xy 47 =0 28 Sgomo aws) Goc oy 0ok X+Y-1=0 o
Qe Boared) ey, & Gabao avg) vow Sodo ok HBSoTrL Wl v

ardo

Options :

1.

s 6




Lad

Lh

Question Number : 46 Question Id : 550053206 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A) : The difference of the slopes of the lines represented by
yz —23:};5&:2 o+(3+ tan” a)(-1+ tan” u)x2 =015 4

Reason (R):  The difference of the slopes represented by

24 /h*-ab
b

ax’+ 2hxy + by’=0 is

ddydo (4) : v —-2xysec’ o+ (3+tan’ o)(-14+tan" 0)x’ =0 & ardotserd
EWI) aIg), TR mc:aigéicﬁo 4

S0 (R) @ ax™+ 2hxy +by'=0 & Arddocseacty Save o8, Tevw) Socs( Bcso

Options :

Both A and R are true and R is the correct explanation of A

A o8adw R e “a}eﬁéo 0000 A méb R0 DdGes R
1. ¢

Both A and R are true but R is not correct explanation of A

A 08050 R en Boctrr Do, and A dBng) 23D 56 R 57
2. ®



A 1s true but R is false

A D50 =5 R 2920350

A is false but R 1s true

A E'.‘Jf-Jel'B?SO 55 R "’aaefa?q’n

Question Number : 47 Question Id : 550053207 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let ABCD be a tetrahedron in which the coordinates of each of its vertices are in
arithmetic progression with same common difference. If the centroid G of the

tetrahedron 1s (2,3.k ), then the distance of G from the origin is

ABCD &3 ehdody) ) ing), 98 3o aiog), ez w8 Fry Sdorfo wos
3 & ayow. o Sogerdo G aog), rose (2.3.k)wond, vy G
A0¢ Are Dot v Erdo

Options :

1. %

2 % 7
22

3.8 T
29



Question Number : 48 Question Id : 550053208 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If A(3,-1.11), B(0,2.3), C(4.8.11) are three points, then the coordmates of the foot

of the pe1pend1culm drawn from the point A to the line joining the points B and C is

A(3.-L11), B(0.2,3), C(4.8.11) e Axrey Dockodyen e, A &roé B 208080

C 0d) 95 3205 AS Lo Fdo Cg), AEFHT

Options :

e

h

. 7)

L (5.9.6)

v (2.5, 1}

-2
Lk
Rt

% (1‘.

4.

Question Number : 49 Question Id : 550053209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If S is the set of all real values of ‘a” such that a plane passing through the points
(<a”,L1), (L—-a".1), (L1,-a") also passes through the point (=1 —11), then S =

(-a’,L1), (L-a".1), (L1, -a") Docosyw ore Fad as oo, (<1,-11) Dok
thoz &ree JAbtore o 4’ a2og) ) TS Jendw ADS § wond,
E’Q)Dm S=

Options :

Question Number : 50 Question Id : 550053210 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The distance between the centres of similitude of the circles
X 4y +6x-8y+16=0and x4y -2x-2y+1=0 is

X 4y +6x-8y+16=0 280k X +y -2x-2y+1=0 9)T°0 aiog) &dmé

Sogre) st ¢hrdo



Options :

[—
LA

N
¥
£ | L|

2 | Lh

]

Question Number : 51 Question Id : 550053211 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let P and Q be the mverse points with respect to the circle
S=x"+y' —4x-6y+k=0 and C be the centre of the circle $ = 0 such that
CP.CQ=4.If P=(L2) and Q=(a.b),then 2a=
S=x"+y ~4x-6y+k =00 chyiFs P ndoso Q e D'y Datkoipen Sobaty
CP.CQ =4 eangbobrr =0 Sy diwg) Sodo € &othdvsorro. P=(12)

08080 Q=(a,b) wand, W\ 2a=

Options :

1.% b



Question Number : 52 Question Id : 550053212 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

LetA(2,3),B(3,—1)and C(-3, 2) be three points. If the centre of the circle
passing through A, B and C s (h, k). then 2k—4h =

A(2,3),B (3, —1) svBain C(-3. 2)on sured Docoedvandomro. A, B dudaiv
C o thoc ol S0 awsg), Socto (b, k) wowd, eryy 2k-4h=

Options :

1.“"0

Question Number : 53 Question Id : 550053213 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

() (2n)
If P — | and QiT

| represent two points on the circle x° +y’ —4x+6y-12=0in
L2 2 )

parametric form, then the length of the chord PQ is

o N Y
— | X +y —4x+6y-12= 003 S0 o Fotd

r’n‘\
P| — bty Q
K\B,j %

|
b /

Dochiudy BTG 6red” Ardy, ey o PQ dwg) T

Options :

L

Question Number : 54 Question Id : 550053214 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let A(1.2) be the centre and 3 be the radius of a circle S. Let B (—1. —1) be the

- . T. .
centre and 1 be the radius of another circle S". If — 1s the angle between the circles S
J

] & . ;
and S, then the number of possible values of 1 is

w8 S80S 0308, oo A(1.2) 8ok ar{iFdo 3 wdvsboro. §'ed '
80 6308, Soggo B(~1. 1) SoBaty Tr§rgo r wvshomo. § dos §

TV mcj?ggﬁeao g 90008, B T ABOY) FPAOE Devide Vo

Options :

1

1. %

Question Number : 55 Question Id : 550053215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The perpendicular distance from the origin to the focal chord drawn through the
point (4, 5) to the parabola y* —4y-3x+7=0 is

2000 Doty &0d v -4y-3x+7=0 Hredeakrds, (4. 5) Do) o

RN me‘,‘)aaﬂéaa fo ©o&) rdo

Options :



Question Number : 56 Question Id : 550053216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

5
re

' s T
Let the length of the latus rectum of an ellipse —+ b =1 be equal to the length of

3 oy

a

its semi-major axis. If the radius of its director circle is V3 and e is ifs eccentricity,
then the length of its latus rectum is

KE )
28 B0 — 1)
83,

,.I
4 &
C

=1 g, TPvowo JE) A BrgoT i & A
S0 eog0mo, T Do Bdo TS, TR0 |3 S0t &

&d) ¢ e wand, w1 o T vow T

Options :

1

a

o | =



4 % ab

Question Number : 57 Question Id : 550053217 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let (1. 2) be the focus and X+Y+1=0 be the directrix of a hyperbola H. If \ﬁ 18
the eccentricity of H, then its equation is

w8 wddTdvobe H dweg) &9 (1, 2) dbakn o 0o x+y+1=0
sRossorro. H aog), a@ZTerj\/g DAL L4880
Options :

x*—6xy+y —14x—-22y+17=0

X —6xy+y +10x+14y-7=0

X’ +6xy+y —14x-22y+17=0
3. %

X' +6xy+y +10x+14y-7=0
4. &

Question Number : 58 Question Id : 550053218 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

IfS= % + lly—k -1=0.keR- {7 ! ]} .then which one of the following statements

is incorrect?

§= kX_" Hy—k-l = 0.k eR-{7.11} wad, e dob pasod’ 98
B

2BEHRG TE?

Options :

S =0 represents a circle with radius \E . when k=9

| k=9 0oniin, g0 V21 080 w8 D) S=027D%08

=
S =0 represents an ellipse with eccentricity \E , whenk =10

k=10 epondagy o, &) 088 \P ™ 5983 28 66 3zl §=0rd0d

-
2. % D

S=0 represents a hyperbola with eccentricity \E whenk =12
k=12 eowdin ), 68,080 \E T $9AR w8 WdHTHVArY) S=0R0dRvd
3. % :

. i 13
S =0represents a hyperbola with eccentricity \g . Whenk=13

k=13 eoonniy, 68)08% \g ™ $9AS 28 eddoduairdy S=0 Arded
4.



Question Number : 59 Question Id : 550053219 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
oy [3xP-5x-2 L .
The function f(x)= — has discontinuous points at X =
2x°=7x45
: =50 ..
Davodan f(x)= : ~ £0R gol Qzﬁbé&eﬁoc&)@m yi=
2x7-Tx+5

Options :
- 512, 2
2' % _I;.‘:_ﬁ!‘ 2

—
3 @ 1. 52
4% —1/3, 1

Question Number : 60 Question Id : 550053220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



L X>2
X-2
b =t
If f(x)=¢ | ,
X —.\:—2‘
I -l<x<2
a(2+x-x7)
2a-D, x<-1
: ; i . SIn”ax+xtanbx
1s contmuous on X, then lim - =
x—0 X*
x-=[x
[ ] X»2
Xx-2
b =2
f{}{): 3
X" -x-2
- -l<x<2
a(2+x-x")
2a-D, Xx<-1
- . sin ax +x tanbx
Wb R » e.ﬂi)cf}aétlma 9003, AN lim : =
: x—0 X
Options :
1.% 0
5 % 1
3.v 2
4 % 3

Question Number : 61 Question Id : 550053221 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let [x] represents the greatest integer not more than X.

5+[x]

-
UL+ [x]-624 5]

The discontinuous points of the function f(x lies in the

mterval

X $08§ ). 5 60 PToE DD [X] Ardined 8ol
5+[x]

f(x) = —
3 YU+ [x]=6y2+[x]

Options :

DRITS o Iy Dochien &ot Boddo

[0.9)

1. %

[5. 8]

[7, 8)
3.¢

o [7:10)

Question Number : 62 Question Id : 550053222 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



-

) I:'r d.; x ."n
If x*y”=e", then | ) =
\ dx /(e.e)
s dl 4
"’ f V
X'y =" 0008, )y = =
LY dx -’HE.E‘]
Options :
1(dy)
e\ dx /o
1.4
|r' d}r \..‘ 1
dx B
9 % /e.e)
(dy ) I
T
X feey €
3. %
' dv \:I
el —= |
X Jia g
4, %

Question Number : 63 Question Id : 550053223 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If £00) =[x =S| [x+5]+[x 4+ |x+4], then H)-1C0)
f'(-1)+£(6)

f'()-£'(-6) _

f'(-1)+£'(6)

f(K)z‘X—SMX:—S‘ -I-‘K—il‘ A‘x+4‘ 9008, SN



Options :

1.«/’1

Question Number : 64 Question Id : 550053224 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
! dy
If f(x+ay)+g(x—ay)=0.then a—=
dx
. d}r
f(x+ay)+g(x—ay) =0 ®and, eyt a——=
dx

Options :

f'(x—ay)+g'(x+ay)
g(x+ay)—t'(x—ay)

f'(x+ay)+g'(x—ay)
g'(x—ay)-t'(x+ay)

f'(x +ay)g'(x —ay)

, o [xray)+e(x-ay)



f'(x+ay)+g'(x—ay)

f'(x +ay)g'(x—ay)

Question Number : 65 Question Id : 550053225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A+x)-4

If the angle between the curves y=e and x’y =1at the point (1. 1) is 6, then

‘sin@‘ it

cos6) =
Dockod) (1,1) 98, Szren =" bty 'y =1 o | o Seao 6 wan,
RN ‘Sitl@‘-l—‘COS@‘:

Options :

Question Number : 66 Question Id : 550053226 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a line is moving between the coordinate axes such that the sum of the intercepts
made by it on the coordinate axes is always 12, then the equation of that line which
forms a triangle of maximum area with the coordinate axes is

A8 0Ee 6| otd 2,8 02 NS wFoD ¥ B3R Wods Hotre Ando
QDY 12 eociogiob gotd, Aire wred wirol Sped (o dTef v
o) 26163 B H86ea0

Options:

- 3IXty=9

, % SX+7y=35

3, v XEY=16
Sx +y=10

4, ®

Question Number : 67 Question Id : 550053227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If (2.a) and (b.19) are two stationary points of the curve y=2%-15x" +36x+c,
then a+b+c=

(2,2) S0Bato (b.19)e0 Sgoy=2x" ~15%" +36x +c Rog, Tocdy iy (0)
Docdo)en Bows, BY\E at+b+e=
Options :

—20



Question Number : 68 Question Id : 550053228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the points of contact of the tangents drawn from (0.0) to the curve y=x'+3x+4
are (01f3)and (7,0), then p+0=

y=x +3x+4 93293 (0,0)800é A 00, Bae0 A (0.B) B (7,9)
Docoo I8 IR, WP\ P+0=
Options :

.
1. %

-2
th

Question Number : 69 Question Id : 550053229 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

ds
e —

+5¢c0s8X

Options :

" X
3+tan—

| =

5 X
3 —tan—
.l".

, X
1 J-!-THH:

3—tan—
2
2.

lad

. X
1 3—tan—
——log —2l.c

z %
3+ tan—
2

3—tan—
1 2

“% K |
7 3+tan—

Question Number : 70 Question Id : 550053230 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0



If f(x) :j —dx(x20) and £(0)=0. then the value of f(1)=

(x*+2x" +1)°

f(x)= dx(x20) oo £(0)=0 eand, R\ f(1) am0g),

5

J- 5% +7%°
(x* +2x" +1)°

Options:

Question Number : 71 Question Id : 550053231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

2
COs X

dx =

O ey | )

2 i B
cos X+4smn™ x

Options :



Question Number : 72 Question Id : 550053232 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘[:«:3 (logx)® dx=

Options :
sxt g xb ot
loex) —+—| (logx)—+—[+C
Hog) 4 27( i )4 16
1, % -
4 4 4
5 X 1 X X
loex)y ———| (logx)—+ e
(logx) 4 2 (log )4 16
2. %



4 B 4 4
% | TH)| X X
bexl it | (I X — €
opx) 4 2'( BX) 4 16}

4. % .

Question Number : 73 Question Id : 550053233 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

logx+B

Hj_ f M:Am4
m(ngT+4ng—q

+ K where K 15 the constant of
logx+C

integration, then

l logx+B
. dx = Alog[ e ‘}K, K 636 0irgod Sorosin
kagx{+4hgx—q logx+C .
OB, VYYD
Options :

1
A:Z—ﬁ, B={25), €=(2+45)

1.4

1 - :
Rl B=(2-45), C=(2+4/5)

2
2. %



B=(2+4/5), C=(2-45)

-2
% —
N

A:—?—jﬁ_._ B=(2+4/5). C=(2-45)

Question Number : 74 Question Id : 550053234 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If f(x)= (a +1) (t+1)* -(a-1) (t* +t+1)} dt. then a possible positive value of

'D"-——.M

—_

‘a’, for which f'(x)=0 has equal roots, i

£(x)= j((a+1) (141 ~(a-1) (1 +1+1) | dt o8, {'(x)=0 278 dreren
-
498 socotd Ko o?mégj 3»@5:;;03:5 w8 g8 0

Options :



Question Number : 75 Question Id : 550053235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. TC
5111
4

/L dx

Oty b3 | 2
~

COSX +SInx

Options :

Question Number : 76 Question Id : 550053236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i ] “dx =

Options :



10
log10

Question Number : 77 Question Id : 550053237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The area (in sq. units) of the region bounded by the curves y=4 ‘cos X‘ and

T, T
y:—‘cosx‘ from X:_E tOE 1S

X :—J—; od X :g HOH }f:4‘cos x‘ 080k }’:—‘cosx‘ I50B DOERD
Jrod DT (5. alrdped’)

Options :



Question Number : 78 Question Id : 550053238 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If x* d—y = }rﬁ(}f logx+dlogy+1) is a homogeneous differential equation. then
X

dy . .
%" d_ =V (7logx +3logy+1) 938 a8 potrdah wsswd HLEdRo wand,
X
@@Dd&
Options :

a=pand y=-3

o=p Sdatwy=—0
1.¢

o=pBand y=0

o= doéodny=0

oz=pPand y=0

oz o8l y =05



a=pand y#06

. oz Hdalwy =£d

Question Number : 79 Question Id : 550053239 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation
7 y) .
tanx tan ydx +cosx cosec’y dy=0 1s

D4V HAEERL tanx tan y dx +eos’x cosecj}f dy=0 abos), Ferot FED

Options :

2 . -
tan" x+cot"y=C

cot’x—tan’ y=C

2. #®
3 v fan"x—cot"y=C
2 2
cot"x+tan"y=C
4. %

Question Number : 80 Question Id : 550053240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If o and f are respectively the order and degree of the differential equation

dy dz_‘r’ :
=& .
V=g . then the value of ai+of + o +.. +0™F =
[ d}, dz}, \
IE-'-—T

ISR VAVSBRAY Y=e e a3og), e 0t B0k S6KS B 9003,

RN gt ot . g =

Options :
221}15 i,
1. %
2024
.l'}
w2 +1
~2024
3.¢¥
~2024 1
4, % < N
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Question Number : 81 Question Id : 550053241 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following, the unit of permeability 1s NOT represented by

308 &S 26)00DE $ PAFET) ArosS

Options :

~» henry/metre

1

weber/ampere
ohin-second/metre

It-second/metre’
4. volt-second/metre

Question Number : 82 Question Id : 550053242 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A truck moving with a constant velocity 12 ms™ crosses a car moving from rest with
i n 2 L f ‘
uniform acceleration 2 ms™. The distance the car has to travel from the starting point

to cross the truck again is

Q%QU }'gé’a 408 2 ms” R)a‘ne:‘ssdeaoeﬁe Sehouchd) 5 & 12 ms” ?{gé oS
QOIS w8 b T A0t 9y08. FB Frdo Mol ) 3BA iy

0L HOITEOSHVND drdo

Options :



50 m
60 m
144 m

120 m

Question Number : 83 Question Id : 550053243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If ?z(—ﬁ—l@j)N and f=(—5{—33:)111, then (Exf) is
F=(4i-10j)N 208030 r= (-5i-3j)m, ®ad (rxF)

Options :

(—20{—5 Ej)Nm

62k Nm

IOJE Nm

38 Nm



Question Number : 84 Question Id : 550053244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two forces whose magnitudes are in the ratio 5.3 are acting at a point at an angle 60°
simultaneously. If the resultant of the two forces 1s 35 N, then the magnitudes of two
forces respectively are

20APEre 5:3 @S o Bod weren I8 Tuod ad Doty 4 60° &ea0d

DASROT) 0. ot werw DS Dend 35 N eond o8 DBAreren Serr
Options :

3N. 5N

25N, 9N

-2
Lh
Z
e
h
Zz,

I12N,20N

Question Number : 85 Question Id : 550053245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. : ; ; F
A block of mass 5 kg moving on a rough surface with a velocity of 4 ms™ is stopped
by the friction in 2 seconds. Then the coefficient of friction between the contact
surfaces 1s

(Acceleration due to gravity =10 ms?)

Q[O°? 5 kg o S0 w8 (D dwop 4 ms” o & Jedr 08e3 SVN 2

20T D50 DA SO\R. 8 0\G BT 65 068 (18350
& A o 3 2 7 @

(o &6eo = 10 ms ™)
Options :

1% 04

Question Number : 86 Question Id : 550053246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The following 1s not the method of reducing friction

308 520" oGy SHod HEB IS
Options :

using ball bearings

e7red 8380 Trditdo

1. ®



applying grease

B0 TroHcto
2. ®

applying paint

Soten aaddto
3. %

forming a thin air cushion

20D O HEL) SoITrE BdaEo
4, ®

Question Number : 87 Question Id : 550053247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

{ & & a)

A body of mass 2 kg is moving with a constant acceleration of | 21+3j-k ‘ ms™. If
/

\

m then the work done is

b

3i-j+2k|

\ /

the displacement made by the body i

2kg 69 o a8 S0 t 2is3i-k

; /

s~ 6 3(eod SO God. & S

|/ Py

3 j+ 2k ] 1 ot 3068 u6Ad &

Options :

223

2.v 23



o x 123

107

Question Number : 88 Question Id : 550053248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the case of non-conservative forces, the following statement is correct.

@3@56&5 2erO%) Doe0dow), S08 DHWRHN VBADHIE.
Options :

The work done by non-conservative force in a closed path is zero.

8 0D HPosS” BB W00 BAXD D BT0.

1. %

The work done by non-conservative forces does not depend on the path.

e.ﬂbeé}gefas BTN B DR ATG0 2 BTEDED.
2. % a

The work done by non-conservative forces depend on the path.

AB[B] WOV WD DA 760 P BEEDEIS0B.
3. ¢ “

There is no energy loss in case of non-conservative forces.

DA Lerwd 33 dFFen Sockd.
4. %



Question Number : 89 Question Id : 550053249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two particles of masses 5 g and 3 g are separated by a distance of 40 cm. The centre
of mass of the system of these two particles

5 g S08ako 3 g @adforaven e Soth Seren 40 ¢ Erdod Ht Bobrd &) . &
Gocd S0 H(SR Awg) BA[o"3 Sogio
Q
Options:
lies at a distance of 15 cm from 5 g particle

5 g g090 A00d 15 cm G60es” &okodd

lies at a distance of 25 cm from 5 g particle

5 g Sr0 A00d 25 cm GrGees” oo

lies at a distance of 10 cm from 3 g particle

5 % 3 g 960 dooc 10 cm Brgoes” 0o

lies at the mid point of the line joining the two particles

Goct Seredn $9D B 06§ Dot H& G0t
4, %

Question Number : 90 Question Id : 550053250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The angular speed of a rigid body rotating about a fixed axis 1s (8-2t) rad 5! The
angle through which the body rotates before it comes to rest is

8 R 6o D oo Batchd) w dit 590 Sesah $& (8-20) rad 57
D0 23S SHDY 988 & S0 oo B3 Stao
Options :

| « Srad

, « 12rad

_— 16 rad

j g
4 % 20 rad

Question Number : 91 Question Id : 550053251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

2
An object of mass 3 kg is executing simple harmonic motion with an amplitude —m .
m

If the kinetic energy of the object when it crosses the mean position is 6 J. the time
period of oscillation of the object is

2
“m S 0SS 3 ke G2 (0 wS Y DOV TS o
m

Sofockod) B, S0 ArE(S gﬂéo B ertw thd) Ry e 0 33 6] wowad

S0 Eorddd o

Options :

pou 18



Question Number : 92 Question Id : 550053252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

As shown m the figure, a block of weight 20 N 1s connected to the top of a smooth

inclined plane by massless spring of constant 87° Nm™. If the block is pulled
slightly from its mean position and released, the period of oscillations 1s

(Acceleration due to gravity = 10 ms™)
tood” rdxd o 20 N 6o o a8 B 28 R T Svo PErTS
Dhossed 87 Nm'™ 207050 ff &8 Aofl 9% Seodwded. B & Srefs

Fido o SG erfl S6D3, Eumrddd s

(thdos &qdeso = 10 ms”)

Options:



Question Number : 93 Question Id : 550053253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The orbital velocity of a body near the surface of a planet “A’ is equal to escape
velocity of a body from the planet ‘B’. If the masses of planets A and B are same, the
ratio of their radii 1

(firion "A” 8erdS ST 2,8 SR dws), SE Mo, (firedw B dooct
S DY AIE). DU DHBVAL VAR, €2 Tt (EPaNY Qbéwmw

e, A oban B fiFe F(Frge Jnd

Options :

1.% 1

4
| =



Question Number : 94 Question Id : 550053254 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A spherical ball of volume 2000 o’ is subjected to a hvdraulic pressure of 15 atm. If

the change in volume is 5x10™ cm’, the bulk modulus of the material of the
spherical ball is

(1atm=10" Nm")

2000 e’ 200870 (o 28 Hvsd wodp 15 atm rErdSE HEdo $DADE
2300Argas" 5x107 cm’ Srthyy SN, w00 & Fgw GB0g) SAHS

eagsn

(1 atm=10" Nm™)

Options :

6x10" Nm™
1. %

i 2x10" Nm™
2.

5%x10" Nm™

15x10" Nm™



Question Number : 95 Question Id : 550053255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The gauge pressure at a depth of 50 m in a sea 18

(Density of sea water is 1025 kg m™~ and g= 10 ms™)

w8 Ddwgods” 50 m &' HG [E Hedo

(Raogio Ot aog), Frogd 1025 kg m” &o8akn g= 10 ms™)
Options :

1025 Pa

1. %

N

12500 Pa

5 % 20000 Pa

4 = 15000 Pa

Question Number : 96 Question Id : 550053256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The emissivity of a perfect black body is increased to 16 times by increasing its
temperature. If the nitial temperature is T, then final temperature of that black body
Is

w8 Sy S0 Tt Docdtto Sv &6 16 880 wodd. o &9 et T

a0 38 el

Options :



Question Number : 97 Question Id : 550053257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The temperature of the sink of a Carnot’s engine is 300 K and the efficiency of the
engine 1s 0.25. If the temperature of the source of the engine is increased by 100 K,
the efficiency of the engine increases by

8 afogo Gwg) 3dersabo exld 300 K Sobakw abogo g 0.25. avogo
Qg &sPsaho e 100K 2o, abogo 5" e

Options :

.« 0.50

0.40



Question Number : 98 Question Id : 550053258 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A monatomic gas of volume “V" and pressure ‘P” expands isothermally to a volume
*27V" and then compressed adiabatically to a volume V. The final pressure of the
gas is

V" udiBareo Sofaky ‘P’ ddido o w8 déasarad Tain. v altie
230D T o 27V Q000843 Jﬂég’ Qow. Auder %}383@5 DS o V'

bt

L0ROBITETS Rowiio BoBIA. TR A0S, B0b ko

Options :

3¢ 9P

4 % 4P

Question Number : 99 Question Id : 550053259 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The specific heat capacity of a monatomic gas at constant volume is X7 of its specific

heat capacity at constant pressure. Then x =
28 D8 DEAPEVS TV oBg), ?ros 203 DOm0 96 (v :39@:% avmgéc- o
206 90 36 o DT b $ 3 7 wowd x=

Options :

Question Number : 100 Question Id : 550053260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of rotational degrees of freedom of a monatomic molecule 1s

w8 D8 DEATTS WEVHED ) FHr Ay Bedoen

Options :

1.“*’32

2.531



Question Number : 101 Question Id : 550053261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; o o L .
A string of length ‘L’ 1s stretched by 5 and the speed of transverse waves along it

; ; o L .
is “v". The speed of wave when it is stretched by EWIH be

(assume that Hooke's law is applicable)

L
'V &ord Brfo A a8 86[8 Sorfo L Tty $DAR Stk i T

-

58T Tockodgn FrHiBoNo 0% JEYENE. Bb Brid % TEL) DEOHHE0

FEEDD T Dko?

(08 Dabdrd) DBrieasd '8 GSKaw)

Options :



4v

Question Number : 102 Question Id : 550053262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The magnifying power of a telescope with tube length 60 cm 1s 5. Then the focal
length of its eye piece 1s

60 cm &0 oY ¢is) SBON 60D i), BB F%ogo 5. wand e

5050 03.13527 :5°e,1°50e:§<:50
Options :

20 cm

40 cm

30 cm

10 cm

Question Number : 103 Question Id : 550053263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a Young's double slit experiment, if the wavelength of light is increased by 50%
and the distance between the slits 1s doubled then the percentage change in fringe
width is

aboh oty B0 HTrriod, 5708 BoBI D) 50% Dod, DS iy dro)
380z B e’ 53y Ard Tdo
Options :

75

1. ®

50

Question Number : 104 Question Id : 550053264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The net electric flux due to a uniform electric field of 3x10°1 NC™" through a cube
of side 20 cm oriented such that 1ts faces are parallel to the coordinate planes is

20 om o o 8 200 IX10°TNC™ &34 fo 2468 Dekog Eo8” 2
SOV DEFDS BNV VATSEANT Sottncd T ot S vl
QI

Options :

30 Nm* C*

1. &



15 Nm?
2. 3

3.¢

20 Nm? ¢
4. %

Question Number : 105 Question Id : 550053265 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A block of mass ‘m” and charge ‘q’ is connected to a point ‘0" with an inextensible
string. This system is on a horizontal table. An electric field (E) is applied
perpendicular to the string and in the plane of the horizontal table. The tension in the
string when it becomes parallel to the electric field is

G031, &30 Q" 0 28 B} ‘0 Dot w8 FridenH08 H6S
SODGND, & RIEN w3 &8 DAreds Y P &) 6. S VoROrT, BTSH
0 0ot &g D88 DS Edo (E) J wodforrth. & & xS Eards
ATFOBEOT B\ & a1 030069 SN

Options :

. 9F

5 2qE

3qE

3.



Question Number : 106 Question Id : 550053266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two capacttors of capacity 4 |Fand 6|IF are connected in series to a 500 V battery.
The potential difference across 4 |F capacitor 18

St 4 IIF, 6 IF Ao Goch SFOG 86" 500 V ergead § sDOTe. 4 U
30k ot TEIDES der
Options :

. 200V

300 V

400 V
3, #

4 % SO0V

Question Number : 107 Question Id : 550053267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given circuit, if the current flowing through 5 resistor is 0.5 A then the
value of E is

G0 doaked’ 5Q Lo ore HBarod Db 0.5 A wowd E Jens

E.2Q
||
II
100 30
“\fhv “l*\fl'r
W
1062
mg 03 §m
03
Options :
e &V
) o 6V
- 8V
. 10V

Question Number : 108 Question Id : 550053268 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0



The drift velocity of electrons in a conducting wire connected to a cell is Vy. If the
length of the wire is doubled and area of cross-section is halved then the drift
velocity of electrons becomes

8 Q00D $0% Tire S dupdvw ¢ i Vi & P &
Tetapo 8oz B SoBoty S\ FTOEN DN S JoFHL ¢
R

Options :

v,

Question Number : 109 Question Id : 550053269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The relation between permuttivity of free space, the permeability of free space and
speed of light 1s

fagffgoémv b@&&bé&, ?oﬁat’l)oéoﬂv 2}6&0‘.&333@&3 206080 P08 A¢ © 265

2oodo

Options :

1. %



g Il =
o0 CE
1
Eollp = —5
2. ¢
1
TR g
3.
s 2
Eolg = C
4. %

Question Number : 110 Question Id : 550053270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The magnetic force q [v x B] is
@03, 08 oo q [V X B]
Options :

parallel to both v and B

V 208030 B 9% Sodotds HiArodSorr cotod

perpendicular to v

V £) 080T &otodd



perpendicular to both v and B

V 208030 B 2 ol oS er0e0m cotuod

parallel to B

B £ Hd0rodidornr cotod
4. %

Question Number : 111 Question Id : 550053271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

One of the following substances having the tendency to move from stronger region
to the weaker region of the magnetic field 1s

& S0 DETOS eabiF) 08 Edo TS, wOM Fodo Aod BOPARD
Fomd3 37 B6r3d DA eold
Options :

paramagnetic

5"5“@0‘.’13.5‘?}0@@5@3

ferromagnetic

28000 0SS A0

diamagnetic

aoijowa%oej@&m
3. %



ferrimagnetic

;:@wombﬂajoééﬁm
4. %

Question Number : 112 Question Id : 550053272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The Lenz law 1s associated with
S0P Qo0 308 T°V3S DoWoBoDDE.
Options :
law of conservation of charge.

e30% ﬁ}’rb‘)e:’a& QoA00.

law of conservation of mass.

GBad] DB AohHo.

law of conservation of angular momentum.

Se30 G55 DS DB Dabado.

law of conservation of energy.

%S QRS Aobwo.

Question Number : 113 Question Id : 550053273 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

An inductor and a resistor are connected in series to an ac source. If the power
factor of the circuit 1s 0.5, the ratio of the resistance of the resistor and the reactance

of the mductor 18

8 DOEB0 2B0%) w8 ABELAN w8 a0 235703 336" LA, Hvabo
ahog), av:»% 5680 0.5 wowd Besgiw dwe) AWerdS Sbakw Hdsdw

Ao, HA8 TS o g
Options :

1 = L

Question Number : 114 Question Id : 550053274 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The device used to detect infrared radiations 1s

DT°EE DSSeTOR) (1808 DAL
Options :

tachometer

e S Sy

1. ®



bolometer

£5°¢5° e )
o

2. -

photocell

SP0e3:0080
3. %

point contact diode

2ot I-i};j& gadrs
4. % “)

Question Number : 115 Question Id : 550053275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The de Broglie wavelength of the most energetic photoelectrons emitted from a
photosensitive metal of work function ¢, when light frequency v incidents on it is

L. Then v =

(h - Planck’s constant, m — mass of electron)
29 oo ¢ o 8 S Arg)Iries Hordo D v FIRYA[o o 508

DA/ errdody 162 182 33 o Terdew derdd o 860 1.

oD V =

(h - gro§ RTrogo, m - TR B(T°3)

Options:
2¢ h
e
h mA°

1. %



G

, x D mA
® h

Xy —

3 @ h 2ma
) h

4 % h 2mA

Question Number : 116 Question Id : 550053276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The centripetal acceleration “a” of an electron in an orbit of hydrogen and the
principal quantum number ‘0’ of the orbit are related by

TEad w8 455D T ding) wd3or dGbno ‘@’ Dok 45§ A
QE 500 o)y ‘1’ 5B &) Doexotso
Options :

3
acn
1. #

acl

1

, » aon’



Question Number : 117 Question Id : 550053277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The radius of the nucleus of an atom whose mass number 1s 125 18

28 DBATEDLY) QS‘JZSU"%‘ "fooa.aé 125 e900d) &3 AT Sods mﬁﬁg 0D
Options :

_— 1x10™"m

5 6x10°m

2 % 1010 m

- 16x10°m
4. %

Question Number : 118 Question Id : 550053278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The material used 1 the fabrication of imnfrared LED s 1s

Dordoes LED o ¢903r8es’ ord HTgo

Options :



silicon

DO

germanium

a&iﬁ&rbo‘bo

gallium arsenide phospide

oo S\DE FRNE

carbon dioxide

Question Number : 119 Question Id : 550053279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a transistor, when the emitter current changes by 9.85 mA, the collector current
changes t0 9.5 mA. Then the base current 1s

ErOVR0 8' 68 DS 9.85 mA Sr8 2LBe3S” DS 9.5 mA 1 - 838,
e.et’.abm ZIngs) Dd:éé o?mﬁgj DD
Options :

0.05 mA

1. &

0.85 mA



3 % 0.8mA

Question Number : 120 Question Id : 550053280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Band width of an optical fiber is

T B0 CBE), DIC DE DeLewy
Options:

more than 100 GHz

100 GHz Z083 ;)532 35
1.4 3

less than 1 MHz
1 MHz Z0é3 ejéaajaﬁ

less than 1 GHz

1 GHz S0 &5

less than 100 kHz
100 kHz S06é5 e:'asbgj.;ﬁ
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Question Number : 121 Question Id : 550053281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following electron arrangement does not obey Hund'’s rule?

308 TOS A VTR WLBY T0E VDAFY FBotsco?

Options:

A

1
jzlzan

Ap ]



Question Number : 122 Question Id : 550053282 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The de Broglie wavelength of an electron travelling with 20% of velocity of light is

(h = 6.626x 107*Js: m =9.1x10™" k)

s0ddriod’ 20% Siod patriod dogd cing) Ge'd S60r30,0
(h = 6.626x 107*Js; m,=9.1x10™" kg)
Options :

24x 101 m

,» 12x10"m

, . 36%107m

,x 48x10" m

Question Number : 123 Question Id : 550053283 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct order of covalent radii of Si. Ge. Sn 1s:

Si, Ge. Sn GBwg), 55065 Eﬁé‘%‘}g"aé 20800800 VBB G0

Options:

1.



Ge < S1 < Sn
=3
5 % Sn < S1< Ge

3 ¢ S1< Ge < Sn

Sn< Ge < Si1

4. %

Question Number : 124 Question Id : 550053284 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The first ionization enthalpies of Na, Mg and St are respectively 496, 737 and 786
kJ mol”. What would be the first ionization enthalpy of Al in kJ mol™

Na. Mg 080w Si o 2¢ed e203RE56 Jom%w S 496, 737 8ot 786
kT mol™, Al cBuJS'G 2088 060 .Doc;rg)b kT mol™ 068" dos?
Options :

450

1. &

800



Question Number : 125 Question Id : 550053285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following sets is correct?

308 PBVS’ HBAHG &?
Molecule | Hybridization | Geometry Number of lone pairs of
W) | H08Bdm0 (RS electrons on central
atom
5088 DOV D
20080 28 JUTR ©
;boa.'}’g
I SiHy spj tetrahedral 0
Bt TS
il BeCl, |[sp° linear 1
b
I |SEK dsp’ square planar | 1
Q% BB
IV |SnChL, |sp linear 0
AW
Options :
vl
o u 1I

Ly QI



Question Number : 126 Question Id : 550053286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is not the property of covalent substances?

308 T3 DB DTN DO GO A0 5°E?
Options :

have definite shape

D62 34,0 €8 asvotraw
AR i

have low melting points

90y BIFDHD FTrO O atotrow

good conductors of electricity

oot 33(.&3595 TCETSTRD

soluble in non — polar solvents

¢ prdedees” Sdoraran

Question Number : 127 Question Id : 550053287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 300 K, one mole of a gas present in a 10 L flask exerted a pressure of 2.706 atm.
What s 1ts compressibility factor (Z)?

(Given R=0.082 L atm mol” K'I).

300K 96, 10L @ﬂi}'& 5 28 Ard Seosnd) 2.706 atm © 33&:5“.331 So0ff @08

G DoE(E (g (Z) dod?

(ady%6& R =0.082 Latm mol ' K
Options :

P

Question Number : 128 Question Id : 550053288 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



At T (K). equal weights of Hy, D», and T, are present in closed vessel. The pressure
exerted by this gaseous mixture is P atm. The ratio of partial pressures of T;, D; and

Hy is approximately

(H, D and T are isotopes of hydrogen).
T (K) 6, a8 0208 TGS 2 erdo o Ho, Da. dodaho Tr &xr) an. &
T050 30500 $DAoy HedAw P atm. Ty, Dy 6akn Hy © FEs néare

G AT Jok?
(H, D 080w T en 3rE 2 o o).

Options :

L)
(42
=
)
L
e
fad
T4d

0.

1. %

5 @ 0.18:027:0.54

3 % 0.25:0.50:0.25

0.54:027:0.18

Question Number : 129 Question Id : 550053289 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: 1 3
6 g of urea (molar mass = 60 g mol ™) and 9 g of glucose (molar mass = 180 g mol™)
were dissolved in 35 g of water. The mass percent of urea and glucose is
respectively

6 g © crdalr (Arerd &ad5o3 = 60 gmol'l), dgo QJ“%G & (drerd (o3
=180 gmol ') 0% 35 g © NS’ 4BRoareh. AarBlr Lok K8 v g7
F0 D™

Options :

. % 18,12
, % 6.9

5 »12.18

Question Number : 130 Question Id : 550053290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the work done by 2 mol of an ideal gas during isothermal reversible expansion
from SL to S0L 15 -189.1 L atm. at constant pressure, the temperature of the gas

(in°C) 1s

26 ot o6 2 mol © ees6)TFain) Y &8 Sorsek TS0 SL dod
SOL % SrBR Tabosd B0 D -189.1 L atm 00 aroknd edl'sé (°C
ve)

Options :

. % 500



, o 227

L 327
4 % 127

Question Number : 131 Question Id : 550053291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
At 300 K the enthalpy change for the following reaction is -2800 kJ mol ™
CH,04(5) + 60,(g) — 6CO,(g) + 6H,0(l)
What is the AU for the same reaction at 300 K (k7 mol™)?
300K 6 308 REY Jowbsef gy -2800 kI mol”. =@ <58{% 300 K ¢ AU
(kT mol™) dos?

CH,0,(s) + 60,(g) » 6C0,(g) + 6H,0(1)
Options:

| 280249
-2800.00
L 4

L . -2814.94

4. ®



+2802.49

Question Number : 132 Question Id : 550053292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At T(K). the equilibrium constant for the reaction aA(g) =bB(g)is K. If the
reaction takes place in the following form 2aA(g) =2bB(g) its equilibrium

constant is K_. The correct relationship between K. and K_is
T(K) 96, aA(g) =DbB(g) id§ & K}mwi’g@ D008 Ke. €3] Sodd deorr
2008, 2aA(g) = 2bB(2) 40mad drregiw K. wowd K. iow K, o

m¢5 ESTeleRAY "rooa)oc_s'ﬂ.bl EIVS)VA
Options :

K =(K.)’
1. %

Question Number : 133 Question Id : 550053293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Observe the following solutions

I. Black coffee I1. 0.2M NaOH II1. Lemon juice

IV. Lime water V. Human Saliva VI Tomato juice

The number of solutions having pH range of 1-7 and 7-14, in the above list. is
respectively

408 ramrady 00290

I 40 5° IL 0.2M NaOH L. a0y 80

IV. 200 A V. &rdd ererawo VI &254° 6o

o wder & pH edd 17 6 7-14 o graere Do SERm

Options:

1, 5

]

2.0 %

Question Number : 134 Question Id : 550053294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Among the following, the correctly matched pair is

208 Tee3eS LB 2¢h BoDWAED 208

Options :



electron deficient hydride — SiH4

DS AFIRS o G — SiHy

saline hydride — CtH

2GS & — CrH

electron precise hydride — HF

QUL S \Sor o Fa& — HF

electron rich hydride — NH3

ngmw eoQgorr o & — NH;

Question Number : 135 Question Id : 550053295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List I

(alkaline earth metal)

A Be

B. Mg

C.Ca

D. St

308 T8N wSDGNE
o |

(76 20,88 &'ivo)

A Be
B. Mg
C.Ca
D. St

The correct answer 1s

2BEH DATERDo

Options :

A-IIL B-II. C-I
1. %

. D-IV

A-IV, B-1. C-II. D-III
2. ®

3

« A-IL B-L C-III, D-IV

4 A-II. B-L C-IV, D-IIT

List IT
(density / g em’)

174

II. 1.84

I11. 2.63

IV. 1.55

A 11
(Rrogd / gem’)

L 174

II. 1.84
III. 2.63
IV. 1.55



Question Number : 136 Question Id : 550053296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct order of melting points of Al, Ga, In is
Al Ga. In © Dz gvaoa 28D $d00
Options :

Al

£

1 Ga<In-

In < Ga< Al

2. %
Al<Ga<In

3, %
. Ga<Al<In

Question Number : 137 Question Id : 550053297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Among the following the correct statements are

[. Germanium exists only in traces
IT. PbF4 molecule is tetrahedral in shape
III. GeX> 15 more stable than GeXy4

$08 TES” DD Teqaen

[ &3)Qako §3 Surdo T VDS
I1. POF, 96205y E38aed 095,83 e5° syotnodd
III. GeX4 8083 GeX) NEVRY ﬁﬁgé@é&

The correct answer is

28D DATTDO

Options :

I1. IIT only
I, IIT shoeghadd

1. %

L II only
- L IT &Sorgdado

LI 11}
LI IO
%

L, 11T only
. LI Srgdo



Question Number : 138 Question Id : 550053298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following reaction is not feasible?

o0& sﬁcﬁgmﬁ'ﬁ AT raqusm 5o0?

Options :
95% H,S0,
CH; —CH, —OH » CHy=CH;
443 K
1. %
75% H,S0,
300K
2. ¥
e 85% H,P0,
HaC~CH,— CH—CHj > CHy—CH=CH—CH,
440 K
3. %
CHB CH3
| 20% H;PO, |
CH;— C —OH » CH;— C —CH;
| 358 K
CHa
4. %

Question Number : 139 Question Id : 550053299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

08 TN RSDEITVEN

List - 1 List - 11
Hg', H*
H,0
cH, 2 b
. ™ I Hs Hy
g HyC. :CHa 05 . HyC-CHO

HsC CHy  Zn H,0

KMnQ
D. CH, CH=CH CH, — IV.  HCHO

H-I-
Options :

: o A= el Cesill, IPsIE

,,A-IL B-IV. C-IL D-I

A=], B=I¥, C=IL Dl

, A-1I, B-II, C-IV, D-I

Question Number : 140 Question Id : 550053300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In ABy crystal structure, A atoms occupied all octahedral as well as all tetrahedral
voids and B atoms are at FCC centres. What 1s the formula of compound A¢B,,

ABy 0\88 Aty 08” A DEAPEDD B BTITES, wer o) BEFTES
Bogrodd e350c0RY, 8ok B D8Armw FOC Sogred” gotrow. A,B,
a8 &da&v AE?

Options :

. ABs

, 41083

5 x A15B36

, o AsB

Question Number : 141 Question Id : 550053301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What 1s the van't Hoff factor of Ferric Sulphate (Assume 100% ionization)

2BS DG\G gy, ol e (easo od.

(100% e905HE0E30 B0 08 R0Aw)

Options :



Question Number : 142 Question Id : 550053302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following does not belong to an ideal solution?

$08 TOS” DO GG, ErHETAS 2020HODVE S°E?

Options :

AH... =0
1. %

‘ﬁ‘\inﬁ' =0
2. ®

Obeys Raoult’s law over the entire range of concentration

) TES © ead e’ 0°G oSBTy oA

Does not obey Raoult’s law

08 o0&y FdodE.

Question Number : 143 Question Id : 550053303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The rate constant. k of a zero order reaction 2 NH, (g}fp{tm>I\I}(g).—3H2 (g) 15

yx10™ molL"s™. The rate of formation of hydrogen (in molL™s™) s
2NH3{J°)TP;K> N, (&) +3H, (=) &3 3R om0 L[S 36w fgmoSo, k

dend yx10™ molLs™ wowdd 3ESS A6\é 6&n (molL™s™ vd’)
Options :

i ="
. yx10

1

2yx107*

3yx107*

Question Number : 144 Question Id : 550053304 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of Faradays required to completely deposit magnesium from 1 L of
0.1 M MgCl, aq. solution i
ILO0.IMMgCh aogrdmnbw &oc 2y a0ho  AED0 Pt SHuRd

R olald) 0R{ Jod?

Options:



2

0.1

Question Number : 145 Question Id : 550053305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The most effective coagulating agent for antimony sulphide sol is

08Ar AT\E FS D 0S(OS FerdS )08 3“5&3%0 o so6%0

Options :

K.SO,
1. % B

~ NH,CI
2. %

Al (S0,),
3.¢

K, (Fe(CN),)

Question Number : 146 Question Id : 550053306 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The plot of log—(y—axs) and log p(x-axis) is a straight line inclined at an angle of
m

45°. When the intercept, K is 10 and pressure is 0.3 atm the amount of solute in
grams adsorbed per gram of adsorbent (log3 = 0.4771)?

logi(y—toio), log p (x-2250) © 065] A Barbiod’ w8 POV B 45° Epod
m

D6\CoB008. 9086 wocko, K =10, 2o 0.3 atm eandd a8 T w8Fago

0HT 060 BoAY TAS Ao TP w&(logd = 0.4771) dod?

Options :

. % 30.0

Question Number : 147 Question Id : 550053307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List -1

(Name of the mineral)
A. Calammne

B. Bauxite

C. Kaolinite

D. Cryolite

306 T wSDAAD
b |

(Do D)

A 500

B. wgbés

C. aar®e

D. S35

The correct answer 13
RBALA VATTEN0

Options :

_— A-IV. B-III. C-1, D-II

2. %

3

A-TIIL B-IV, C-V, D-1II
4.

A-IIL, B-1V. C-1. D-V

. A-IV,B-IL, C-V, D-I

List-1I
(Type)

I) Sulphide
IT) Halide

[II) Carbonate
IV) Oxide

V) Silicate

dar-11
(4o)

I) 9g\&

IT) ::ﬂég&

II) 5°8 S¢S

IV) e533&

V) 299365



Question Number : 148 Question Id : 550053308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the reaction in which oxygen is not one of the products

380 28 G 0T DBNED SE§RL Dot
Options:

XeF, + H,0 >

. AeE +1L0 =

Aet, +OLE =
3. % -

Xek, +H, 0 —»
4. :

Question Number : 149 Question Id : 550053309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Arrange the following in order of increasing number of unpaired electrons in them

308 B TS Q) aBMrED TR 0| D67 SH08" byl

3L

i, [Fe(CN),| ii. [MuCL] " iii. [FeE,] " iv. [Co(NH,),]
Options:

L w L. iv. i, did



) dv. i i i

3 IV,.1, 11,111

4w LAV i, i

Question Number : 150 Question Id : 550053310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correctly matched pairs

1. T1O — pigment industry

1. MnO, — drv battery cells

ii1. Cu/Ni alloy — UK ‘copper’ coins

RO 2SBALIED BoLOR (DBotod

i. TiO — 27, 085 8320

ii. MnO» — @::ﬂg w}ge}tﬁ 20770

iii. Cu/Ni Q3% <o - UK ‘5206 oedsen
Options :

e L i

i1, 111 only

ii, iii Aoresdd
2. %



i, 11 only

i, ii Soeesd
3.9

i, 111 only

i, iii Sra®d
4, ®

Question Number : 151 Question Id : 550053311 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following pairs the polymer is correctly matched with the forces

possessed by them.

A. Neoprene ----  Weak intermolecular forces

B. Terylene ----  Hydrogen bonding

C. Polystyrene ---- Very weak mtermolecular forces

D. Polythene ----  Hydrogen bonding

308 9 2008 FDE T Eof werod HBT 2 Babedod?

A JBFOD - WP 0SS B8 W
B.86OS -  Eud woo

C. P800 - 03 puPd wods v werw
D. 304 - TEad oo

Options :

.« BC



Question Number : 152 Question Id : 550053312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In nucleoside, the base is attached to which position of sugar molecule?

Ar(EAIrRE & w0 195)6 WS’ ) Fd0S” wotosnd Gotnod?

Options :

e €1
5 % C-2
3 C—3
4 % C-5

Question Number : 153 Question Id : 550053313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Hypothyroidism is due to

A. High level of iodine in the diet
B. Enlargement of thyroid gland
C. Low levels of iodine in the diet

D. Increased levels of thyroxine

P RTONE R D HOD D0

A es550e5° wdE ‘gvm:: DI ED eodtro
B. @3uroné Hod H0h57e0 6o

C. e555608" %) S o @ALED Goto

D. 8% Jow BT°SYD
@
Options :

_« AB

, ¢ B.C

A.D

3.% °

C.D

Question Number : 154 Question Id : 550053314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ortho-sulphobenzimide is used as
58-S\ BoB2E 0 BIMT ST E?
Options :

Anti oxidant

3ol 93%5593

Artificial sweetener

&9 & 5260

Food Preservative

055358 mmﬂé@ ~odg so

Food supplement

285358 eV oW :ngo

Question Number : 155 Question Id : 550053315 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement I: Chlorobenzene on nitration gives -chloro-4-nitrobenzene as major
product

Statement II: Chlorobenzene undergoes nitration slowly than benzene

Identify the correct answer

2068 Goc SEEICY fa:JSeo&ab

iy I 9840 & 88 G, 1-56-4- DBES & 2 68y o™ 9006,
g I1: Do g0t §ETED D RS i) BT Bodkduod.

288 i) JodEod

Options :

Statements 1. II are correct

aegaofen LI Soch 80D
1.

Statements 1. IT are incorrect

SEEMNCS I II Soc DB 57
2. % B

Statement I correct but statement IT 1s mncorrect

Sog0f 1 200G 57 Trfang 11 st

Statement II correct but statement I 1s incoirect

gegaf I 20HE 57 avgf I s°do



Question Number : 156 Question Id : 550053316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In SN2 reaction, the carbon in the transition state 1s
SN2 €5655e5°, QOGRS STE\S
Options :
Tri coordinated

SATPELD LI0TTERIAD SQ 0t00d

Penta coordinated

£ 20T SQ &0t0d

Tetra coordinated

TR 20T 5§ &ot00d

Hexa coordinated

e3¢ 205D sﬁg &otod

Question Number : 157 Question Id : 550053317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following has more pK, value?

S0t QD TES” D I, PKa Dendad S8 eotnod?

Options :



2-Nitrophenol

2-2¢° DTS

3-Nitrophenol

3- 28" DS

4-Nitrophenol
4- 2¢5° DS

2.4-Dinitrophenol

2.4-3 DE5° DS
4, % -

Question Number : 158 Question Id : 550053318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Vinegar and butter are the sources for which of the following carboxylic acids

respectively?

S0 O 5707585 wireD 36 6oty ) SWA wre doTe?

Options:
CH,COOH. CH,CH,CH,CH,COOH
1. % B B
CH,COOH. CH,CH,CH,COOH

2. %



CH,CH,COOH, (CH, ),CHCOOH
3. % - S

CH,CH,CH,COOH. (CH,),CHCOOH
4, % i - - -

Question Number : 159 Question Id : 550053319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identity X. Y and Z in the following reactions sequence

308 SR B[S’ X, Y &08asn Z odn e

c . H.,CH,CH,0H—% 5 CH,CH,COOH—Y 7
Options :

X=PCC Y =NaOH.CaO Z=CH.CH,

1.%
, X=PCC Y=LAH Z=C H,.CH,CH,
2. % 2
X =Jones reagent Y =NaOH.CaO Z=CH.CH,CH,
X= &9y 5680 Y =NaOH.CaO Z=CyH,CH,CH,
3. %
X =Jones reagent Y =NaOH.CaO.A Z=CH.CH,
X= &dyse8go Y =NaOH,CaO,A Z=C.H,CH,
4.

Question Number : 160 Question Id : 550053320 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following produces nitrogen gas after the reaction with nitrous acid?

$0b TS 26 DA o & S6S0d PERS TP A6\62006”
Options :

. » (CH3l:N

. CoHSNHC,H;

5 % (C2Hs)sN

4 » CoHsNH,



